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QUESTION 1

A customer wants to provide access to the HPE SimpliVity datastores for compute nodes running CPU-intensive virtual
machines. What should you tell the customer?

A. It is supported to connect up to 5 compute nodes per SimpliVity node.
B. Additional license is required to connect ESXi nodes to SimpliVity datastores.

C. Connecting ESXi compute nodes is possible only when VMFS datastores are configured at SimpliVity Federation
level

D. Compute nodes must reside in the same cluster as HPE SimpliVity nodes.

Correct Answer: D

QUESTION 2

What is the difference between crash consistent and application consistent cloning methods?

A. Application-consistent clones allow the pending 10 operations to finish before committing them to the database.
B. Both methods are the same; the only difference is speed of cloning.

C. Crash consistent method should be used only for the virtual machines with Fault Tolerance enabled.

D. Application consistent method is available only for Linux operating systems.

Correct Answer: C

QUESTION 3

At which level you can apply a backup policy?
A. cluster

B. datacenter

C. vCenter Server

D. datastore

Correct Answer: B

QUESTION 4

In an HPE SimpliVity 10-node cluster, a simultaneous increase of 10 requests across several VM caused a surge in 10
traffic in a single node. Which HPE SimpliVity feature can evenly distribute the 10s across the cluster?
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A. Resource Balancer

B. Management Virtual Appliance
C. Arbiter

D. Intelligent Workload optimizer

Correct Answer: C

QUESTION 5

A customer is analyzing data using HPE InfoSight for HPE SimpliVity. They found that the Total Data Stored for a VM is
significantly higher than the VM Storage Usage in vCenter. How do you explain these findings?

A. The VM is configured with RF3.

B. The Total Data Stored includes VM data, local backups, and remote backups.
C. The Total Data Stored includes the datastore size and its replicas.

D. The VM was thick provisioned.

Correct Answer: A
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